Math Quiz - Unit 8 Word Problems: Multiplication & Division
Name: Date:

A) Solve the multiplication word problems.

There are 2 nests in a tree.
There are 5 eggs in each nest.
How many eggs are there altogether?

X =

There are eggs altogether.

A bag contains 2 melons.
Mr. Rikki has 10 bags.
How many melons does Mr. Rikki have altogether?

X —

Mr. Rikki has melons altogether.
B) Solve the division word problems.
Sally packs 14 cakes into boxes.

She puts 2 cakes in each box.
How many boxes does she use?

She uses boxes.

Mr. Modie puts 50 balls equally into 5 groups.
How many balls are there in each group?

There are balls in each group.
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